For frequencies where no crosspowers are available, ‘# of averages’ value is 0. The notation CHi*CHj indicates the spectral density of channel i and channel j which is:

CHiCH*j for ( = (1 is equal to the inverse of (( times the intergral of CHi of ( inner product CH*j of ( times d( from ( sub 1 minus half the (( to (1 plus half ((. 

where

CH sub i inner product CH* sub j(() = the inverse of n_ave times the sum of ch sub j,k times (() inner product ch* sub j,k times (() from k=1 to n_ave.
and ch sub j,k is the spectra for the k-th time-series from channel ‘i’. (*) indicates complex conjugation, d( is the bandwidth, and ( is the angular frequency.

